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1.

Which statement is not applicable to

objective type of questions ?
(A) More content can be covered.
(B) Correct measurement is possible.

(C) Quick and correct valuation is

possible.

(D) Measuring more than one

learning objective is possible.

‘Nothing succeeds like success’, this
statement is based on which law of

learning as propounded by Thorndike ?
(A)_Practice

(B) Readiness

(C) Effect

(D) Recency

Which is not a sub-law of ‘Law of

Practice’ ?

(A) Law of Set
(B) Law of Use
(C) Law of Disuse

(D) Law of Recency
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Which is the proper method of

remedial learning ?

(A) Home task

(B) Group discussion by the teacher
(C) Co-operative learning

(D) Practisation

According to Terman, what is the

intelligence quotient of gifted children ?
(A) 100

(B) 100 to 120

(€) 120 to 140

(D) More than 140

Which method is not useful for

identifying slow-learners ?

(A) Intelligence testing

(B) Interview with parents

(C) Observation by the teacher

(D) Achievement testing
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Which is an example of intrinsic

motivation ?

(A) Aspiration
(B) Praise

(C) Encouragement

(D) Prize

What type of evaluation should be
done to know if a child is fit for

admission into class VII ?
(A) Placement
(B) Formative
(C) Diagnostic

(D)"Summative

What language should the teacher use
while teaching the scheduled tribe
students so as to meet their language

problems ?

(A) Pupils’ spoken language
(B) Standard language

(C) Book language

(D) Both book and spoken language
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Which

activity-based ?

learning method is not

(A) Basic education method
(B) Laboratory method
(C) Play-way method

(D) Question-answer method

Which is not related to motor

learning ?

(A) Drawing
(B) Imitation
(C) ' Cycling

(D) Typewriting

Why is there dual-class teaching

system in elementary schools ?

(A) Want of class-rooms

(B) Making the teachers more active

(C) Less number of teachers in

proportion to the number of classes

(D) Maintaining discipline
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“Natural response to a stimulus can
be associated with another stimulus.”
Which learning theory is related to
it 7
(A) Conditioning
(B) Trial and error

(C) Insightful

(D) Instrumental conditioning

Which one of the following is wrong ?

(A) Development 1is a lifelong

process.

(B) Development always takes place

uniformly.
(C)gbevelopment is individualistic.

(D) Development does not stop at

maturation.

Mental health of the child is

influenced by which one ?
(A) Parents’ aspiration
(B) Teacher’s behaviour
(C) Peer behaviour

(D) All of these
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Whole and part learning concept is

based upon which learning theory ?
(A) Trial and error

(B) Insightful

(C) Field theory

(D) Instrumental

Which one is helpful in developing

creativity ?

(A) Writing different uses of a piece
of brick.

(B) Writing a sentence ten times.

(C) Working out ten addition

problems.

@) Counting the alphabets in a

sentence.

What is inclusive education ?
(A) To teach by integrating all subjects.

(B) To teach all categories of
learners together according to

their needs.

(C) To teach different categories of

learners in different groups.

(D) To make provision of formal

learning for all.
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Which one is a teacher-centred

teaching-learning process ?

(A) Teacher works as a facilitator of
learning.

(B) Teacher explains with the help
of teaching-learning materials.

(C) Teacher supervises learning
activities.

(D) Teacher helps the learner to

gather experience.

Which one is not related to

competency-based teaching-learning ?

(A) A lesson is divided into some

smaller units.

(B) Competencies ~ are  arranged

serially from simple to complex.

(C) Each competency is based on

previous competency.

(D) Teaching-learning of all
competencies is done

simultaneously.

In what type of questions the
possibility of guessing is the least ?
(A) Completion type

(B) Yes/No questions

(C) Four-option type

(D) Answering in a single sentence
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What type of questions are asked at

the last step of teaching in a period ?
(A) Placement

(B) Diagnostic

(C) Summative

(D) Formative

Which one is not a tool of

observation ?

(A) Anecdotal record
(B) Achievement test
(C) Rating scale

(D) Check list

Which one is not a free response

type question ?

(A) How many gases are released by

a tree during day time ?

(B) Describe the functions of leaf.

(C) Write the uses of water.

(D) Explain how a piece of stick can

be used.
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Which factor of the teaching-learning
process 1s influenced by educational
psychology ?

(A) Teaching method
(B) Learning experience
(C) Evaluation

(D) All of these

Which one influences the
development of the child ?

(A) Teacher’s behaviour towards the
child

(B) Parent’s behaviour towards the
child

(C) Peer influence on the child

(D) All of these

‘What should the teacher do to correct
the mistake committed by the child

during teaching-learning process ?
(A) Punish the child
(B) Correct the mistake indirectly.

(C) Correct the mistake through

other students.

(D) Correct the mistake immediately

in the class-room.
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At what stage of intellectual

development, does problem solving

ability of the pupil take place ?
(A) Sensory motor

(B) Pre-operational

(C) Concrete operational

(D) Formal operational

The mental age of a 10 years old
learner is 10 years. To what class the

learner belongs ?

(A) Less intelligent
(B) -Average intelligent
(©) High intelligent

(D)_Very low intelligent

Which statement is not applicable for

‘education’ ?

(A) Education is a goal-directed

process.
(B) Education is a lifelong process.

(C) Education is a behaviour

modification process.

(D) Education is only a formal

process.
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© s (©) 3 S& B Uit
(D) &8 (D) ag&ah S8 Vs law
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55.

56.

57.

P8 - B VWD DB 8 ?

(A) 28
(B) grgoaw
(C) oD

(D) &

36&@ & @@ﬁ)&l& - 838 arégfm)

D SCURAWDD DoBRS ?
(A) qf&’)ézg@ S°00
(B) efret sceo

(O) DG 5700

(D) o 579

o @’°5°6fm>e,o - 50 R

Varrda ?

(A) 2o
(B) &g Waro
(C)  g08g Wirko

(D) DAy, LS

36

58.

59.

60.

OTET/1/15
D8+ sbsSie -
Sy G ?

WVoH BOIR

(A) s Sdw
(B) IG5 aw
(C) H&rsSdw

(D) 8% Shw

1808 &AS® VarnE (8cH O ?
(A) I

B) 8w

(C) &%

(D) | e3> &0&08

-
a?ég?a?)& ?

Bob BT HAVE

(A) Lras
Toa° DT,

S&% e

(B) e T AT

SERSD.

(C) odrabedn S W
Lres.

D) S W0 red

Toau° DT,

Contd.
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ENGLISH
61. The b is both cl d
© vy Bmo cleveran 64. Teaching of English in India as a
handsome. It is a sentence.
second language has been very
(A) simple important and inevitable since :
(B) complex (A) India is a multilingual nation.
(B) Indian language books are
(C) compound mostly written in English.
) . (C) English is a foreign language.
(D) imperative
(D) English is a link and
international language.
62. Mr. Daslives____. 65. The substitution table in teaching
(A) on upstairs English is associated with
stage.
(B) upstairs (A) introduction
) ; (B) presentation
(C) inupstairs
(€)™ comprehension
(D)  above upstairs (D) "application
66. You are a teacher and doing free
63. Dividing a sentence into sense composition in  class-IV.  Your
) o activity will result in :
groups while reading is called :
(A) making a number of mistakes
(A) chunking by the children.
(B) discouraging children from
(B) cluster ...
writing further.
(C) stroke (C) increasing correction work for
the teacher.
(D)  intonation (D) All of these.
37 P.T.O.




SET:| A
67.

68.

69.

Chorus reading in teaching a poem is

done usually :

(A) before introducing the poem.
(B) after the introduction.

(C) during teaching the lesson.

(D) at the end of the lesson.

Put ‘v’ mark / ‘X’ mark in the box if

the statement is RIGHT/WRONG.

(i) Liquids do not have definite shape. | ]

(i)Ice 1s lighter than water. []

The test item inside the box is .

(A) Recall type

(B) Recognition type

(C) Matching type

(D) Completion type

The aim of teaching English

language is to acquire the knowledge

of

(A) grammar

(B) words and phrases
(C) sentences

(D) language skills

38

70.

71.

72.

OTET/1/15

Task : Fill in the blanks choosing the

suitable words.

(1) I want a cup of coffee.

(strong/powerful)

(1)) Heisa smoker. (heavy/big)

The task in the box tests the learner’s
ability in :

(A) spelling

(B) pronunciation
(C) collocation
(D) idiomatic use

The closing phrase of a formal letter

1S :

(A)Your’s faithfully
(B) " Yours Faithfully
(C) Your’s Faithfully
(D) Yours faithfully

Which is not a sub-skill of speaking ?
(A) Inefficiency

(B) Accuracy

(C) Fluency

(D) Naturality

Contd.
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73. He gave me useful book.
(A) a (B) an
(C) the (D) some
74. We have a holiday Christmas.
(A) on (B) in
(C) at (D) for

75.

76.

Down went the bell with a gurgling sound.

- @ 6 “)

Which part of the above sentence

functions as the subject ?

@A 1 B) 2
<G 3 (D) 4
Priya : I come in, Sir ?

Teacher : Yes, Priya, why are you so late ?

(A) Will

(B) Shall

(©) May

(D) Might

39

77.

78.

79.

80.

SET:| A

Mr. Patelisa___ doctor.

(A) young handsome tall Indian
(B) Indian handsome young tall
(C) handsome tall young Indian

(D) handsome young tall Indian

Which of the following is correctly

punctuated ?

(A) Oh God, save me.
(B) Oh God ! Save me.
(C) Oh God. Save me.

(D) Oh God save me.

She has been living here ______
(A)for four years

(B) since four years

(C) from four years

(D) since the last four years

______were absent.
(A) He,I1&you
B) You, he &1
(C) I, he & you
(D) You,I&he

P.T.O.
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Read the passage carefully and answer the

following (5) five questions from 81 to 85
choosing the correct alternatives given.
chief

education available to Tagore, was a quiet

Among the sources  of
garden, adjoining his family house. Here,
he used to spend much of his time
absorbing the peace and beauty of nature.
It was through this early contact with the
nature, he acquired that serenity of mood
which distinguished him all his life. It was
in this garden too that he came to
understand that principle of harmony was
at work throughout the universe. At the
same time, he formed the habit of

observing and reflecting on things.

81. Tagore spent much of his time in the

garden adjoining his family house

(A) plucking flowers and enjoying
their smell.

(B) loitering and singing.

(C) enjoying natural peace and
beauty.

(D) sleeping and dreaming.

82. By spending most of his time in the
garden Tagore developed the habit of.
(A) meditating everyday
(B) taking life easy
(C) being
thoughts

absorbed in poetic

(D) observing things carefully

40

83.

84.

85S.

OTET/1/15

To the great poet, the garden

adjoining his family house was a

(A) convenient playground.

(B) source of pleasure and
entertainment.
(C) beautiful place for writing

poetry.

(D) means of education.

The garden adjoining to the poet’s

family house is described as.
(A). noisy

(B) beautiful

(C) _quiet

(D) thrilling

The phrase ‘serenity of mood’ in the
passage means ______ mood.
(A) calmand quiet

(B) angry

(C) rivalry

(D) retaliating

Contd.
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Read the passage given below and answer
the questions (86 to 90) that follow
selecting the most appropriate alternative

for each.

Most paper comes from wood. First
trees are cut down and the logs are taken to
the paper mill. There, the logs are washed
and cut into small pieces. These pieces are
then put into ‘pulp digesters’ where they
are broken down by steam and chemicals.
This process releases wood fibre. This is
mixed with dyes to form wood pulp which
is then passed through screens to remove
the hard pieces which have not dissolved.

The wood pulp is fed into a paper-
making machine. A pump sprays a thin
layer of the liquid paper pulp into a moving
wire screen.

As the pulp is carried along by the
screen, the water in it slowly drains and the
wood pulp slowly forms into paper. Aftér
this, the wet paper 1s passed through heated
rollers which press and dry it. The dried
paper is rolled into huge bundles and sent

out for various uses.

86. When the logs first arrive at the mill,

(A) they are cut into small pieces
(B) they are put into pulp digesters
(C) they are washed

(D) they are passed through the

screens

41

87.

88.

89.

90.

SET:| A

The dyes are added

(A) after the pulp passes through
the screen.

(B) after the fibre is released.

(C) after cutting the wood into
pieces.

(D) after the pulp is fed into a
paper-making machine.

A pump

(A) spreads the paper pulp on the
wire screen.

(B) removes the hard pieces of
wood.

(C) flattens the paper.
(D) adds dyes to the wood pulp.

The heated rollers are used
(A) to bundle the paper

(B) to cut the paper

(C) to dry the paper

(D) to dye the paper

The passage describes the process of

(A) making wood pulp
(B) chopping trees into logs

(C) releasing wood fibres from
paper pulp
(D) making paper from wood
P.T.O.
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(MATHEMATICS)

1
91. a?-3a+1=06Q6@, a’+5Q e
a

6R6% ?
(A) 15 (B) 18
(C) 21 (D) 24
92 L L Q IR 666 ?
" l4ar-mT | ggmen :
A) 1 (B) 15
© 2 (D) 2.5

93. @64 6QIRIAT 66l @%Q o

Al QU6Q 30% QelR Qlf 6RETY

3 10% @QI6, sem Qg a4

@0q | 666@ 64 ¢oagl 6@6e

Ale dlRIg |

A) 10%

1
© 155 %

1
B) 125 %

D) 17%

91.

92.

93.

If a2 — 3a + 1 = 0, then what is the
3. A
value of a° + ; ?

(A) 15 (B) 18

© 21 (D) 24

What is the value of Tran-m +
—1 ?

I +am-"

(A 1 B) 1.5

< 2 (D) 25

A shopkeeper ‘marks on the article
bought by him at 30% above the cost
priceérand allows a discount of 10%
whilegselling it. What percentage of
profit he gets ?

1
125 %

(A 10% B) )

1
© 155% D) 17%

g AR gie / SPACE FOR ROUGH WORK
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9.

9s.

96.

(x — 3) ¢ BRIAE QIAl (2x + 1)
006a @aldindal @lIdia dsE
B 2x+ 1) @4 6AaE QA (x + 4)
0069 @aldIRdel @i A8

2a9ale 3 : 10 6Q6@, x @ 9
6R65 ?

(A) 3 (B) 6

(C) 9 (D) 12

1728 9 ARIR B 289 Q Qg

QEATIRA 2Qa 6R6C ?

(A) 5 (B) -5

© 29 (D) -29

66116 6@ @giaG x &@.9. 6a6169,
y Qgiea z &.0. 9ol aAGada
@60 | daln Q7Ae Trafqoq
oRlNg 66Q6 0/ Q69 ?

a
Q

(A) xué(z@c@)
(B) xo<z(ygQ)
(C) yoxz(xg)

(D) xo<y(z @)

9.

9s.

96.

SET:| A

If the work done by (x — 3) men in
(2x + 1) days and the work done by
(2x + 1) men in (x + 4) days are in

the ratio 3 : 10, then what is the value

of x ?
(A) 3 (B) 6
(C) 9 (D) 12

What is the difference between the
cube root of 1728 and negative

square root of 289 ?
(A) 5 B) -5

© 29 (D) =29

A vehicle, moving with a speed of
x km/he. covers z km in y hours.
Which of the following is not correct
1n respect of the statement ?

1
(A) xo ; (z is constant)

(B) x o<z (yis constant)
(C) yo<z(xisconstant)

(D) x o<y (zis constant)

g AR gle / SPACE FOR ROUGH WORK

P.T.O.



SET :| A OTET//15
97. 6@60 (MR QUEQ Qde  10% 97. On what principal at the rate of 10%

Q059 2 oda 0068 au 26as per annum, the difference between

the compound interests for 3 years

3 6dq 99 gu ¥ 121.00 Al and 2 years is ¥ 121.00 ?

e (A) 1,000
(A) 1,000 B) 71200
B) 1,2
) o (©) % 1,500
(©) % 1,500
(D) 2,000 (D) 2,000
98. Q@ 9069 A PQR @ ZQPR § PL 98. In the given diagram, PL bisects

ZQPR of A PQR and L lies on QR.
If mZQ = 70° and mZLPR = 28°,
then what is mZPLQ ?

aAnQslg @69 e°L G9 QR Q469
20de | 96 mzQ = 70° 9g°

mZLPR = 28° @\, 606@ mZPLQ

P
646G 2
P

Q T R
A) 52°

Q . R (A)

(A) 52° (B) 56°

B) 356°

Ecz 68° © o

(D) 82° (D) 82°

g AR gie / SPACE FOR ROUGH WORK
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100.

Qa 5669, C@aa PQ W& Qud |
C, C, 8 C; @@ G6lda 689
delesn K, L 8 M ¥6° Qg @9
04 PQ QU6Q dege IC,C,B8C,
Qa ode 9t delassl 18w, 41 G

6n 64.9. 6Q6@, C; Qaa QY
6060 69.71. 2

(A) 8w (B) 7Tm

(C) 6m (D) 5w
ABCD Qi9IQee ©g6a @4 AC

3 BD. €9Q9Qq ‘O’ G96Q 69Q
@a8 | 90 E, F, G X9 H 22Ia64

AO, DO, CO 9g° BO Q ¢ilieqQ
QdQq, 666@ (EF + FG + GH + HE)
L;(AD +DC + CB + BA) o dQdlo
686G 6QQ ?

100.

In the given diagram, PQ is a
diameter of the circle C. K, L and M
are the centres of the circles C,;, C,

and C; respectively and the said

points are situated on PQ. If the
circumferences of the circles C, C,

and C, are 18w, 4m and 67 cm

respectively, then what is the
circumference of the circle C3 incm ?
(A) 8n (B) 7n
(©) orn (D) 5w

ABCD is a parallelogram and the

diagonals AC and BD intersect at
O AL E, F, G and H are the mid-

points of AO, DO, CO and BO
respectively, then what is the ratio of
(EF + FG + GH + HE) and (AD +
DC+CB +BA)?

© 3:4 (D) 4:5 © 3:4 (D) 4:5
QAL QAR gIR / SPACE FOR ROUGH WORK
45 P.T.O.
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101. GQ& ABC 69 AM ¢laidllq glai@g

102.

103.

R, BR 8 AC 9949 ‘S’ 8969
690 @QQ, 6669 Qg 69Q6 AS

age agle ?

A) 2 AC B) %AC
(A) 5 B) 3
0 TAc D) > AC
© 5 D)

AABC ~ ADEF, AB = 9.1 64.9.
<9° DE = 6.5 69.9. | 96 ADEF Q

aQagl 25 64.9. @9, 606Q

AABC Q 99l 6060 6Q.91. 2

(A) 35 (B) 28

C) 42 (D) 40

96 Qaf Geea 88UHha AQAIC
Q9 698 Qde 9f QU cIdye
deale dQ Qe @4, 666@
6Q7IRE  AQQU QPG Q4R
2QAIG 6866 ?

A 2:1 (B) 1:2

© 4:3 D) 1:1

101.

102.

103.

OTET/1/15

In triangle ABC, AM is the median
and R is the mid-point of AM, BR

and AC intersect each other at S.

Which of the following is equal to AS ?

(A) 5AC B) +AC
© 7AC D) 2AC

AABC ~ ADEF, AB = 9.1 cm and
DE = 6.5 cm, if the perimeter of
ADEF = 25 cm, what is the perimeter

of AABC incm ?
(A) 35 (B) 28

© 42 (D) 40

If the ratio of the areas of two
triangles is equal to the ratio of their
bases, then what is the ratio of their

corresponding heights ?
A 2:1 B) 1:2

(C) 4:3 (D) 1:1

g AR gie / SPACE FOR ROUGH WORK

Contd.
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104.

105.

~

0acgea 2 62.9. @1d QIQ @iy
e Q6ERe Q069 d6eUR Q1QQ
Qg 60@ QIEQIE aEQa 2&o
QNG | W N& QIR el
Qdg gneN 9F 618 G WQIe
saslme QA odldIRg |
6QEIEE 6860 6T 6866 Q6

64.91. 2

(A) 2n-4
© 4-m

B) 4-2n
D) nw-4

dlfie QoUpdsa 6§c aeldal
Q00 RIQ& ?

(A) 63909 @1OR6R  6EoQ
WA QYAQIS

(B) 6de ®WY &Rl Qv 999
alaloly

(C) ¢doa Aegq gl 28

(D) 6de #®Ie &Rl dIoYarsa

gol 2ey Gud 9f 699 Q19

SET:| A

104. In the given figure, each side of the

square is 2 cm long. Four semicircles
are drawn inside the square taking
each of the sides as diameter. Thus a
flower of four petals is formed which
is shown by shading. What is the

area of the shaded region in sq.cm ?

(A) 2m—4 (B) 4-2n

€ 4-m (D) m—-4

105. Why should mathematics be taught

in primary schools ?

@A) Too much use of mathematics
indaily life.

(B) _Higher education is impossible
without the knowledge of
mathematics.

(C) Mathematics has its own

language.

(D) Other  subjects in  the
curriculum cannot be
understood without

mathematical knowledge.

g AR gle / SPACE FOR ROUGH WORK
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106.

107.

108.

gladie QouRg  dloiasise 2ol
606 Q89 29 6doq AQ-aae
aG 2

(A) ARIQE IR

(B) 98694l dude

(C) QIEe Qlo

(D) < 4919

(a + b)? = 6666 ? NG Qg6 6lée
ol 69Q  QsQeN  Qdsa
ARIAG ?

(A) HIo

(B) 6@l

(C) <646l

(D) < 4919

@68 <G8 Qe @9 a9
900ea Q6 @tm | 6266a9
saldgea  dld @9  90ga9
SleQls 6@IgIR - g oRlER Q]
AR QARG 6Q6M | 64 668
00 AR 680 dBG Aenle
R6m 2

(A) @699

(B) 26484

(C) 26

(D) 2QEAUQ

106.

107.

108.

OTET/1/15
With what subject in the primary
school curriculum has mathematics
correlation ?
(A) General Science
(B) Environmental Studies
(C) Social Studies
(D) All of these

(a + b)?2 = How much ?

This question is based on which
objective of teaching mathematics ?
(A) Knowledge

(B) Understanding

(C) Application

(D) All of these

A teacher constructed four different
quadrilaterals. Measured their angles
and arrived at the conclusion relating
to the relation between measures of
four angles of a quadrilateral. What
method of teaching mathematics did
he follow ?

(A) Analysis

(B) Synthesis

(C) Induction

(D) Deduction

g AR gie / SPACE FOR ROUGH WORK
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109. Ql2fie 9a6a QYA 9eIngl AR’

110.

111.

60Q 986 JeAge @qlaN ?
(A) Q6988 B 264N
(B) 26y 8 A6QIQ
(C) G648d G 2l

(D) 2leQly 8 Leedel

69Q6 61&6 oY 9gaca RaNd ?
(A) QP dgion

(B) QI 4gQa1

(©) <8¢ a8t

(D) @Ydce QG 6 el

Qol6a @EIRdQl 6166 /IRIRa
6aq 986 e SIg-68aa aUce ?

(A) @699
(B) 26484
(C) UBAP-AREAIQ

D) @1

109.

110.

111s

SET:| A

What method is adopted for teaching

Geometry at the primary stage ?
(A) Analysis and Synthesis
(B) Induction and Deduction
(C) Analysis and Induction

(D) Induction and Synthesis

‘What is not there in mathematics text

book ?

(A) Worked out problems
(B) Practice problems

(C)  Methods of learning

(D) Geometrical figures and graphs

Whichypof the following methods of
teaching mathematics is more child

centred ?

(A) Analysis

(B) Synthesis

(C) Inductive-deductive

(D) Play way

g AR gle / SPACE FOR ROUGH WORK

P.T.O.



SET:| A
112.

113.

114.

30 Qe slda @ede
Q@ delq 9¢ ?

(A) 9 QA a6

(B) <9lge daa

(0) @2@ e

(D) @Qeaq

Qold  69éNa  colg &
Jagiea Qe  aa
QIR RIRd fdeR @
dongd eqlde ?

(A) 609 gna
(B) 61
(C) ae
(D) 650166

@68 916, g 8 GOM QL6
guice @8 8 G deg
AQdiQeq | 64 6de Q)
686 AdY QIdA @Q9q ?

(A) &IQIFS
(B) 6QR

© &gge
(D) < 299

OTET/1/15

112. The counting number preceeding 30 is

113.

114.

. What type of question is it ?

(A) Short answer type
(B) Completion type
(C) Recognition type
(D) Multiple choice

A child of class II regularly makes
mistake in multiplication. To know
its cause, what type of test is to be
done ?

(A) Formative

(B) Achievement

(C) Unit

(D) ~ Diagnostic

A pupil is able to draw geometrical

figuress and graphs neatly and

correctly. What objective of teaching

mathematics has he achieved ?
(A) Knowledge

(B) Understanding

(C) Psycho-motor

(D) All of these

g AR gie / SPACE FOR ROUGH WORK

Contd.
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115.

116.

1 X2X3 Xeoounn.... X 29 x 30 Q

QTR 6418 QlElER 6@6516 0

(g9) 28 7
A 7 B) 5
© 9 (D) 10

ORe  @de udeg reua  Qde

Q696 TR, F691] 684 TEHUQIA

Q! alQy ?
(A) 3 (B) 6
<o 7 D) 8

2 A
117. 3 @ edisligia Qemli¢t G glelelgla

QRIS ClETR 665 ?

(A) 2 B) -1

< O D) -2

115.

116.

117.

SET:| A

What is the number of 0’s (zeroes)

that occur at the last part of the

productof 1 X2 X 3 X.......... X 29 X
307

(A) 7 B) 5

© 9 (D) 10

By which of the following numbers
the difference between the squares of
the two consecutive odd numbers is

always divisible ?
A) 3 (B) 6

© 7 (D) 8

What"1s' the product of the additive

inverse and multiplicative inverse of

(A) 2 B) -1
<o o0 (D) -2

g AR gle / SPACE FOR ROUGH WORK

P.T.O.
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118.

119.

120.

10 @F g6@ ¢6Q9a Qdd e
9dda Q@ed ml | €6 10 @F
d6Q 9909 949 40 @F 699,

6060  dede  Qeslll  @qd
6960 7

(A) 20 (B) 10

(C©) 30 (D) 15

QO x(x+y+2)=26,y(x+y+z)=19
NQ°z(x +y +2) = 124 @, 6069 xQ
e 6866 6QQ ?

A 5 (B) 4

< 3 D) 2

7" = K 68669, ‘K @lel G9g 60a
Al 6Q6A, ‘m & glalge a6l
6QQ ?

(A) 543 (B) 839

(C) 1983 (D) 2401

118.

119.

120.

OTET/1/15

10 years ago the age of Sachin was
twice the age of Ajaya. If 10 years
hence, Sachin will be 40 years old,

then what is the present age of Ajaya ?

(A) 20 (B) 10

(© 30 (D) 15

Ifx(x+y+2)=26,yx+y+2)=19
and z(x + y + z) = 124, then what is

the value of x ?
(A) 5 B) 4
< 3 D) 2

For what value of ‘K’ in 7" = K, ‘n’

will be a Natural number ?

(A) 543 (B) 839

(C) 1983 (D) 2401

g AR gie / SPACE FOR ROUGH WORK

Contd.
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(ENVIRONMENTAL SCIENCE)

121. 291 QIQY6q 69Q 661619 6RG) 121. From which class to which class in
64 ggq@ a%Ie 8 Abe our State are Science and Social
fslae <& a0foe  glouad Science integrated as Environmental
G@G@; S50 Gle G:)SH 561|6.Q?JQ§‘7 Science in the curriculum ?

A) Gl 6 ood (A) Class —III & Class — IV
’ 7 (B) Class —1IV & Class -V
(B) 964 8 aggl
= (C) Class —IIto Class — 1V
© Qoig g 9gd
(D) Class —1III to Class -V
(D) Qu1d 9 <ég

122. 666 6@ G0 ddaiQ Qg 122. On which days the durations of the
diesa 69 8 QGQ el Qe day and the night are equal at all
6QIR2IN 2 places on the earth ?

(B) 66d9q 223 oI 21 (B) 22 December & 21 March
€) saasesIer 23 G oId 21 (C)"23 September & 21 March
D) &9 216 Geage 22 (D) 921 June & 22 December
123. How much joule of work shall be

123.

I kg 9@9QQdly V& uULeARIQD
Qg QeR @i Q@ 30° ERIG6Q
296 A9CMER 50 cm  6d6@

AMOE |ILY 6060 gR 699 ?

(g = 10 m/s?)
A) 5\3 B) 5
© % (D) 2.5

53

done by a rectangular object of mass
1 kg when it slides down 50 cm on
an inclined plane making an angle of

30° with the horizontal ground ?

(g = 10 m/s?)

(A) 53 B) 5
S

© NG (D) 2.5

P.T.O.
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124.

125.

126.

@68l QY& ‘A’ 019 QIQIQ faq 0«
Qlgl Gelsq QI Amel QIS 5 km
6G @Q ‘B’ 0lsQ €Q8sm | 640IQ
0] Qaa olQle Gesq el
doude ARe Qe 12 km 616
@Q ‘C’ gecq a8t | ‘A’ 019
‘C ddig Glera QgITe 686G ?

(A) 5km (B) 12km
(C) 13km (D) 17 km
QIEdIRN QIR QIR
QIR QU  6REAER  6Md
QRN ?

(A) Al (B) Sn

(C) Zn (D) Pb

() Y&  9Q1dq  IRfle  Q°
CORIE IRl 266 |

(i) <9 <919 qedle  wae
Qoller @l a6e' |

(ii) & 901JQ ORAR QYQ N6°

CARAR QG IRl A6E |

QU6QIq, F1Q :

(A) (i) 0K, (ii) 8 (iii) 9a

(B)

©)

(i) OR, (i) G (iii) QR
(iii) 0K, (i) G (i) QR

D) (@, (i) G (ii) Q)
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A person started from ‘A’ and covered
a distance of 5 km on a straight road
exactly on his left and reached ‘B’.
From there he moved a distance of
12 km on another straight road exactly
on his right and reached ‘C’. What is

his displacement from ‘A’ to ‘C’ ?
(A) 5km (B)
© (D)

12 km

13 km 17 km

Iron sheets used for making roofs are

coated with which one ?
(A) Al (B) Sn
(C) Zn (D) Pb

(1)~ The melting point and the
liquefaction point of a

substance are the same.

(1), The boiling point and the
freezing point of a substance
are the same.

(1) The product of melting and that

of liquefaction are the same.

Out of the above :

(A) (1) is correct; (ii) & (iii) are
wrong.

(B) (i) is correct; (i) & (iii) are
wrong.

(C) (1) is correct; (i) & (i) are
wrong.

(D) (), (i1) & (iii) are wrong.

Contd.
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127.

128.

06R G6RIG af GuYIRg

(i) QQse¢, atargy 9@ 606 |

(i) <Y, Qag 666a \°
ANIFE QAR 6] 697
6106 |

(iii)) 9969¢, Qad ANGe \e°

JRGe QUAIR 969 697
610G |
QAEaIq Flalg :
(A) (i) 09 W& (i) G (i) @M
(B) (i) 0@ \@° (i) G (i) @A
(©) (iii) O) ~N@° (i) 8 (i) A
D) (@), (i) B (iiD) QM
giaifie QQUALEea6a QouETIaw®
oulen dagla dapQel @9-a]
AIGI6R AARTEC 6QIRAN | QIR
alge Qgleg Q69lq g 68@6
dsalayl QrRIeT 2ee ?

(A) 69&-QF

(B) «6'dl QaIq
(C) 696" 69a

D) 29 98
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Three statements are given below :

(1) Ecosystems constitute the
environment.

(i) Both biological and social
elements constitute the
environment.

(iii) Both  social and natural
elements constitute the
environment.

Out of the above :

(A) (i) is correct and (ii) and (iii)

are wrong.

(B)

(i1) is correct and (i) and (iii)

are wrong.

(©)

(1i1) is correct and (i) and (ii) are

wrong.

(D) (1), (i1) and (ii1) are wrong.

In the ' primary schools cleanliness
among children is observed in
different degrees. Which one of the

following tools is most suitable to

measure it ?

(A) Check-list
(B) Case-study
(C) Rating scale

(D) Questionnaire

P.T.O.
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130.

131.

6266 @ld Qaqsne dg 99
TAEe 969 ?

(A) 9998 996 @del A6aBIQE
496 G 9@ |

(B) Q@9 6Afal 8 JRUeRalR
QAL QTS Q4 |

(C©) Qo Geq Qe SgrIal
Qe @8N |

(D) JRYEeee  QUG-3ge  Qf

Qe

@619 loY|el 900%  ARIAEH
dIfaleia ap dlkfie 694166a9
APIGe GRIQ GULER 68QCEY
2Q9e @laln Mg ?

(A) 9Q6Q¢ a8l
(B)
©
D)

Q66llm
R5Q1

AN ORI

6266 QNG QRIS L6

6618 Qg ?
(A) 9sIaR 2R
(B)
©

D)

dima ANNQY 2IELN R
d9gLedlol dItLIne

261g, @9Q
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Which is not associated with the

Long Answer Type Questions ?

(A) Question

relatively easy and simple.

preparation is

(B)

More time is required to write

the answer and for its

assessment.

(©) his

The examinee expresses

independent thinking.

(D) There is no subjectivity in

assessment.

Which is not included in Social
Science at the Upper Primary classes
of our state according to the National

Curriculum Framework, 2005 ?
(A) Environmental Science
(B)#"Geography

(C) History

(D) Political Science

Which was the last phase of the

Indian Freedom Struggle ?

(A) Champaran Movement

(B) Civil Disobedience Movement
(C) Non-Cooperation Movement

(D) August Revolution
Contd.
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132.

133.

134.

JRIGOR 6860 6109 @Qds6m ?
(A) Q6-0161901RIRI6R
(B) &R 66lIgy
(C) QARG 6611

(D) QAR Q6 6011
AIMeIE @4 FQIar Qail dele
afdsm ?

(A) Qg ol

(B) W6 4R

(C) Q@1aqld 0Ig9)

(D) QAR ALDE QAL

2deR de6q 66 6Qal dl6g

AR AQAG Qe ?
(A) Q1996
(B) QUIAdQT
(C) Q@@@

(D) QUAYLE
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Who did form the Swaraj Party ?

(A) Militant Nationalists

(B) Khilafathists

(C) Pro-Changers

(D) No-Changers

Who did confer the title ‘Mahatma’

on Gandhiji ?

(A) Frontier Gandhi

(B) British Government

(C) Rabindranath Tagore

(D)pplzala Lajpat Rai

Whose prior permission is necessary
before introduction of the Money Bill

in the Parliament ?
(A) Speaker

(B) Prime Minister
(C) President

(D) Vice-President

P.T.O.
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135. 66 Q99 @ﬁ@@l@ G 609 135. Which Court has the power to review
its own judgement ?

il Q9 ?
ARas 99 (A) Supreme Court

(A) QO QUIINL
(B) High Court
(B) Q9 UIding

©) Bl 96 6ald (C) District Judge Court

(D) 99-0% 6216 (D) Sub-Judge Court

136. 699 Q1 Q4oYel Qe 08¢ 136. By which river valley is the South

Qs e c\ﬁ 2R QIFiER @@@ Indian Plateau bifurcated into two

~ segments ?
6QImAQ ?
(A) 9QIRG1 (A) The Mahanadi
(B) Q90| (B) © The Narmada
(©) 691l (C) The Godavari
(D) 649 (D).»The Son
137. gI6l408 609 I8 dia GqIQ oI 137. Which factor is mainly responsible
QUOUIe  699lm  dsasl a9 for higher range of temperature at
Delhi than that of Chennai ?
QI ?
(A) AL (A) Latitude
(B) Q@0 (B) Altitude
(©) 291Q0Ig Q! (C) Distance from the Sea
(D) @W@@O@ Yol (D) Distance from the Himalayas
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138.

139.

140.

QYo QY6R149 ~

IQIRERYR : 68 - : AIGIAIN .

(A) 6QFIRQ
(B) @1Q¢Ia
(C) 610

(D) dldllan

oM QG169 686 Q0109 64IGR
QRS ?

(A) 69169 6

(B) Qlellge dleig)

(©) QUGG QI

(D) A0IQ L6

66Q6 @ ddae AR 96 ?
(A) g
(B) ¢1&l
© @l

(D) 6816

138.
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On the basis of rainfall —

Mahabaleshwar : Pune : : Mangalore : .

139.

140.

(A) Bengaluru
(B) Karwar
(C) Kochi

(D) Panaji

Which river valley project is on the

river Chambal ?

(A) Govind Sagar

(B) ' Nagarjun Sagar
(C) Rana Pratap Sagar

(D) .Sardar Sarovar

Which one is not a cash crop ?

(A) Sugarcane

(B) Maize

(C) Cotton

(D) Jute

P.T.O.
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142.

143.

q60lq, 66RE 6qlas 08 Qs
QdIgin AR 1§ ?

(A) 9990-9a
(B) Gdl

(C) 20g6

(D) ¢IQIeedl cgaq 2qs

606 9RIa 99 996 @9al, a8e
8 afg A6AY &Y JANge Qs
Qen 8 299 6QIRAIN ?

(A) @QeaR gae
(B) f90@Q Jne
(C) 2689 @A 90a

(D) <& QA9 JIRa
68l6N Q6 V' QUGURl A9N6Q

QIR AR Qgase 689 d8GE

(A)
(B) 9694 de¢e
(C) 2UBRSR!

(D) 6Q6I58 9eda
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Which of the following cannot be

properly shown on a globe ?

(A) Small land forms
(B) Direction
(C) Location

(D) Shape of the continents

Which of the following types of
questions is difficult and time taking
to prepare but its evaluation is quick,

correct and easy ?

(A) Multiple choice type
(B) Short answer type

(C) e Very short answer type

(D)““Long answer type

Which of the following is the best
method of teaching ‘V’ shaped valley

in the classroom ?

(A) Displaying picture

(B) Displaying model

(C) Discussion

(D) Displaying graphical diagrams

Contd.
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144.

145.

14e.

147.

60@ 641616 4anse ?
(A) @2 -6909IQ
(B)
©)

(D)

PIa - IGAIR)
6219)80 — 9fal

2R - 646219

6866 669 26l Q68 ?
(A) «leg
(B) dQel6oldl
©)

(D)

60l

UGAR

6606 29Q8Q €ale 96¢ ?
(A) 7199 aeas! Qg
(B)
©

(D)

ARoQE 2gAg
diRel @8

AFIRR @UQ6Y 6QQ

606 CIQI AVCINAQA Qe

@1&8216Q 2
(A) Qa8

B) ¢

3)

< o

8D

(D) G

61

144.

145.

146.

147.

SET:| A

Which is the unrelated pair ?
(A) Ghee — Fats

(B) Dal — Minerals
©

(D)

Soyabean — Proteins

Potato — Carbohydrates

Which is not bio-waste ?
(A) Paper

(B) Vegetable peels
(C) Cow-dung

(D) Slag

‘What is not the effect of acid rain ?
@)
B)

Loss of soil fertility

Destruction of eggs of aquatic

animals

©
(D)

Algal bloom

Danger to buildings

Which one can taste with its entire

body ?

(A) Honeybee
(B) Housefly
(C) Fish

(D) Fruitfly

P.T.O.
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148.

149.

150.

09909 9% Oade g9id :

Cn *

(i) Q80 Q6LeAQIal aMAeIY

QYIgRe AYTe Q69 |
(i) g4l 9@ eEee dald |
(i) 2dge  Q&eeq
e @ |

agqlal

(A) ()G (i) O] &9 (i) 9a
(B)
©

(D)

(iD) G (i) O/ /g, () @R
(i) G (iii) O &9 (i) 9N

(1), (i) B (ii1) Y

Q6ee'd  QeIAQ-D Qe
¥Ql 68Q dalae d¢ asg ?
@g@@o

A8y @aa 9ne

(A)
(B)
©

D)

ante gIde gRe

94R 9Ra

60a G010 ddin daIdisaae
Q69 ?

(A) dodR
(B) Qo194
©)

(D)

auee 4

el

=
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Read the statements and indicate the
correct one :

(1) Plants release water vapour by
transpiration to atmosphere.

(ii)
(iii)

Resin is a plant product.

Non-flowering plants propagate
by seeds.

(A) (1) and (i1) are correct but (iii)

is wrong.

(B)

(i1) and (iii) are correct but (i)
is wrong.

©

(1) and (iii) are correct but (ii) is
wrong.

(D) (i), (i1) and (iii) are wrong.

Rickets : Vitamin-D : : Scurvy:
What type of question is not it ?

(A) Objective type

(B) _Fixed response type

(C) Analogy type

(D) Selective type

Which teaching method is not child

centred ?

(A) Demonstration
(B) Experimentation
(C) Observation

(D) Project
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